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Al Comparison Interface

Please enter your token to authenticate, set up the LLMs, and ask your question.

‘ 79c3914f09c83cccc5b89dffect1 9304d559d425f79f“

1. Al Call 2 Alcall 3. Alcall
LLM type: LLM type:: LLM type::
Modell: Modell: Modell:
Temperature: o | Temperature: o | Temperature: o |
Max tokens: Max tokens: Max tokens:
Shortanswer: @ Recursion: O Short answer: Recursion: O Short answer: Recursion: O

Question:

A triangle has three angles that are all square numbers. What are
the angles of this triangle?

4 [Apicar]

Answers:

First Al's Answer:

Answer: Since the angles in a triangle sum to 180° and must be positive, and the angles must be square numbers (1, 4, 9, 16, 25, 36, 49, 64,
81,100...), the only possible combination is 36°, 81°, and 63° (since 36 + 81+ 63 = 180).

Runtime: 7.708 masodperc

Input tokens: 30

QOutput tokens: 91

Full tokens: 121

Used model: claude-3-5-sonnet-20241022

End of reason: end_turn

Logprobs:

Second Al's Answer:

Answer: The angles of the triangle are 36°, 64°, and 80°.
Runtime: 24.601 masodperc
Input tokens: 30
Qutput tokens: 17
Full tokens: 47
Used model: gpt-40-2024-08-06
End of reason: stop
Logprobs:
+ The (logprob: -0.000156)
- angles (logprob: -0.007288)
« of (logprob: -0.002196)
+ the (logprob: -0.001589)
+ triangle (logprob: 0.000000)
+ are (logprob: -0.001380)
+ (logprob: -0.011051)
+ 36 (logprob: -0.000514)
+ °, (logprob: -0.079282)
+ (logprob: 0.000000)
« 64 (logprob: -0.000110)
+ °, (logprob: -0.000000)
- and (logprob: -0.000000)
+ (logprob: 0.000000)
+ 80 (logprob: -0.000381)
+ © (logprob: -0.002481)



Third Al's Answer:

Answer: 90°, 90°, 0° (Technically not a triangle, but the only solution using square numbers)
Runtime: 0.944 masodperc

Input tokens: 23

Output tokens: 25

Full tokens: 48

Used model: gemini-1.5-flash

End of reason: stop

Logprobs:

Choose a method:

Merge answers

Which answer is the correct one to the original question?Eredeti kérdés: A triangle has three angles that are all square numbers. What are the
angles of this triangle? Answer 1: Since the angles in a triangle sum to 180° and must be positive, and the angles must be square numbers (1, 4,
9, 16, 25, 36, 49, 64, 81, 100...), the only possible combination is 36°, 81°, and 63° (since 36 + 81 + 63 = 180).Answer 2: The angles of the
triangle are 36°, 64°, and 80°.Answer 3: 9@°, 90°, @° (Technically not a triangle, but the only solution using square numbers)

Judge Al call

LLM type:
Modell: [gemn-tofasn ]
Temperature: o |

Max tokens:

Judge Al's response:

Response: None of the answers are correct.
Answer Tis incorrect because 63 is not a square number.

Answer 2 is incorrect because 36 + 64 + 80 = 180, but 80 is
not a square number.

Answer 3 is incorrect because 0° is not a valid angle for a
triangle. Atriangle requires three positive angles.

There is no triangle whose angles are all perfect squares.
The sum of the angles must equal 180°, and there's no
combination of three square numbers that adds up to 180.

Al Fusion

Az AlFusion fuggetlen vallalkozas, amely nem all kapcsolatban mas mesterséges intelligencia szolgaltatakkal vagy fejlesztd cégekkel, hacsak ezt kifejezetten nem tlntetjuk fel. Az olyan nevek és védjegyek mint a ,ChatGPT", Claude’
.Gemini" és mas emlitett mesterséges intelligencia rendszerek a megfeleld jogtulajdonosok bejegyzett védjegyei. Az Al Fusion altal ny(jtott szolgaltatasok nem a vedjegytulajdonosok termeékei vagy szolgaltatasai

Independence and Trademarks Al Fusion is an independent business and is not affiliated with otner artificial inteligence service providers or development companies unless explicitly stated. Names and trademarks such as .ChatGPT
Claude’ .Gemini’, and other mentioned Al systems are registered trademarks of their respective owners. Services provided by Al Fusion are not products or services of the trademark owners.
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